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BRHERARE SHEENBEREE
% o] B - Rk Bif g i & % w E
EENEE 6, 680, 729
MEEE 6, 680, 729
FEiEAE 6, 680, 729
FEiEAE 6,472, 969
HEER 508, 920
1 AIBERE 1.00 345,016 345,016
i
2 HEMER (1) 2FEEHY 1.00 81,952 81,952
®
3 HEMER (2 2FEEHY 1.00 81,952 81,952
®
KERE 2,734, 862
4 BETAEM 1.00 244, 414 244, 414
=
5 BETRNQ) 1.00 674, 431 674, 431
i
6 KZRHEND 20.70 15, 501 320, 870
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7 kRAENQ 100. 50 10, 566 1,061, 883
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8 KFHE 2 0.74 585, 493 433, 264
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=
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k& 2,760

13 fc#& 1.00 2,760 2,760
=
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14 £BHES 1.00 160, 000 160, 000
=

EIREE 45,000

15 ETEERE 1.00 45, 000 45,000
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EEAEE 6, 680, 729
HEHE 6,680,729 x 69.1% — 7,112 4,609, 271
AEEEE 6,680,729 + 4,609, 271 11, 290, 000
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HETEALE 11,290,000 x 10.00% 1,129, 000
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A 3.00 47,100. 00 141, 300
Bl S H A
A 2.00 36, 900. 00 73, 800
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A 0.50 34, 600. 00 17, 300
MR =LY
% 1.00 341, 600. 00 3,416
& B 1E%HeH - 1.00K 345, 016. 00 345,016
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B 1.00 29, 341. 00 29,341/4.70H / 8H
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A 1.00 47, 100. 00 47,100
B = A
A 1.00 36, 900. 00 36, 900
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A 1.00 34, 600. 00 34, 600
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= 1.00 83, 361. 00 83, 361 8H
GNSSRI TS E DGNSS
= 1.00 25, 740. 00 25, 740
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B 1.00 83, 361. 00 83, 361 8H
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A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
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A 2.00 34, 600. 00 69, 200
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B 1.00 25, 740. 00 25, 740
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B 1.00 10, 741.50 10, 741
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% 2.00 2176, 595. 00 5, 531
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B 1.00 83, 361. 00 83, 361 8H
RIS HER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
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GNSS;BIfI & DGNSS
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% 2.00 2176, 595. 00 5, 531
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AR =3OV
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